ASTRONOMY A2Z

Tutorial Model Answers

1.6



[image: image1.wmf] 

 

2

2

2

 

2

4

2

/

2

2

/

2

2

2

3

ú

û

ù

ê

ë

é

´

-

÷

ø

ö

ç

è

æ

=

-

-

kT

mv

kT

mv

e

kT

mv

v

ve

kT

m

N

dv

dN

p

p

      
at peak value vo where


[image: image3.wmf]0

value

peak

at

0

v

dv

dN

=






[image: image4.wmf]QED

  

          

2

  

i.e.

   

,

1

2

2

m

kT

v

kT

mv

o

o

=

=





[image: image5.wmf]ò

ò

¥

¥

=

0

0

)

(

/

)

(

dv

v

N

vdv

v

N

v

  -  substitute N(v) and cancel constants.
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Substitute x given by  
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Now 
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and, similarly to above,
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